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Consolidation work - Second Level 2

Write in words 333,009.

Divide 8500 by 5.

Multiply 16 by 7.

Divide 28.04 by 10.

Multiply 94.8 by 100.

Add 500 and 42464.

Subtract 3000 from 98484.

Find 3/8 of £88.

Half 1300.

Half 5750

You have £10. You spend £6.34. How much change?
The shift starts at 01.15. It is 21.55. How long until the shift?
Find 60% of 40

Find 80% of 600

Write 8/100 as a decimal.

Double 95.

Multiply 93.75 by 8.

Divide 36.96 by 6.

3/4 of 84.

3/12. Write the equivalent fraction in quarters.



